## **BID TABULATION**

**ITB No.** 24-101651 **ITB Name:** Stone Crushed Granite (Three (3) Year Multiyear Contract) **Bid Opening:** June 13, 2024 **Price Opening:** August 21, 2024 **Agent:** Yesenia Diaz

				F.M. Shelton, Inc.		Green Dream International, LLC	
Item No.	Item Description	Estimated Number of Units	Unit	Unit Price	Total Amount	Unit Price	Total Amount
1	Stone, crushed granite, Class A, Size 3, Grading 2"-1"	3,900	Ton	\$41.16	\$160,524.00	\$41.16	\$160,524.00
2	Stone, crushed granite, Class A, Size 4	3,150	Ton	\$39.86	\$125,559.00	\$41.75	\$131,512.50
3	Stone, crushed granite, Class A, Size 5, Grading $1"-\frac{1}{2}"$	4,250	Ton	\$34.72	\$147,560.00	\$42.92	\$182,410.00
4	Stone, crushed granite, Class A, Size 467, Grading 1 ½ " No. 4	3,650	Ton	No Bid	No Bid	No Bid	No Bid
5	Stone, crushed granite, Class A, Size 57, Grading 1" No. 4	9,000	Ton	\$43.71	\$393,390.00	\$43.51	\$391,590.00
6	Stone, crushed granite, Class A, Size 67, Grading <sup>3</sup> / <sub>4</sub> " No. 4	3,200	Ton	\$44.58	\$142,656.00	\$47.04	\$150,528.00
7	Stone, crushed granite, Class A, Size 7, Grading <sup>1</sup> / <sub>2</sub> " No. 4	4,150	Ton	\$47.99	\$199,158.50	\$60.56	\$251,324.00
8	Stone, crushed granite, Class A, Size 89, Grading 3/8" No. 16	3,850	Ton	\$46.45	\$178,832.50	\$46.45	\$178,832.50
9	Stone, crushed granite, Class A, Size 10, Grading 2"	3,400	Ton	\$37.07	\$126,038.00	\$51.74	\$175,916.00
10	Stone, crushed granite, Class A, Size 3, Grading No. 4-0	3,150	Ton	\$41.65	\$131,197.50	No Bid	No Bid

			F.M. Shelton, Inc.		Green Dream International, LLC		
Item No.	Item Description	Estimated Number of Units	Unit	Unit Price	Total Amount	Unit Price	Total Amount
11	GAB (Crush and Run) Graded aggregate in accordance with Georgia DOT standard specifications, section 815, dated November 5, 2010	64,800	Ton	\$30.58	\$1,981,584.00	\$30.58	\$1,981,584.00
12	Rip Rap, in accordance with State of Georgia D.O.T. standard specifications, section 603 A, B, and C Type 1	8,200	Ton	\$40.32	\$330,624.00	\$53.51	\$438,782.00
13	Stone, crushed granite, Class B, Size 3, Grading 2" – 1"	3,600	Ton	\$41.65	\$149,940.00	\$42.92	\$154,512.00
14	Stone, crushed granite, Class B, Size 4	3,600	Ton	\$39.86	\$143,496.00	\$42.92	\$154,512.00
15	Stone, crushed granite, Class B, Size 5, Grading $1"-\frac{1}{2}"$	300	Ton	\$34.72	\$10,416.00	\$42.92	\$12,876.00
16	Stone, crushed granite, Class B, Size 467, Grading 1"– ½ " No. 4	150	Ton	No Bid	No Bid	No Bid	No Bid
17	Stone, crushed granite, Class B, Size 57, Grading 1"– No. 4	3,600	Ton	\$43.51	\$156,636.00	\$43.51	\$156,636.00
18	Stone, crushed granite, Class B, Size 67, Grading 3/4"– No. 4	300	Ton	\$44.58	\$13,374.00	\$47.04	\$14,112.00
19	Stone, crushed granite, Class B, Size 7, Grading <sup>1</sup> / <sub>2</sub> "– No. 4	300	Ton	\$47.99	\$14,397.00	\$60.56	\$18,168.00

				F.M. Shelton, Inc.		Green Dream International, LLC	
Item No.	Item Description	Estimated Number of Units	Unit	Unit Price	Total Amount	Unit Price	Total Amount
20	Stone, crushed granite, Class B, Size 89, Grading 3/8"–No. 16	300	Ton	\$46.45	\$13,935.00	\$46.45	\$13,935.00
21	Stone, crushed granite, Class B, Size 10, Grading No. 4	300	Ton	\$37.07	\$11,121.00	\$42.92	\$12,876.00
22	Manufactured Sand	9,100	Ton	\$42.49	\$386,659.00	\$42.34	\$385,294.00
23	Rip Rap, in accordance with State of Georgia D.O.T. standard specifications, section 805.01 A, B, and C Type III	12,400	Ton	\$49.73	\$616,652.00	\$52.33	\$648,892.00
24	Surge Stone	4,600	Ton	\$42.92	\$197,432.00	\$42.92	\$197,432.00
25	Curbing, granite, Grade B, random lengths; 7- 1/2 ft 8 ft. long, 6 inches-8 inches thick, 14 inches-16 inches high	7,900	FT	\$31.21	\$246,559.00	No Bid	No Bid
26	Slate Scape Trail Mix ASTM C136 - AASHTO T27	30	Ton	\$175.00	\$5,250.00	No Bid	No Bid
27	Small River Rounds, River Rock, 2" thick	30	Ton	\$278.75	\$8,362.50	No Bid	No Bid
28	Medium River Rounds, River Rock, 7 to 14" across	30	Ton	\$278.75	\$8,362.50	No Bid	No Bid
29	Large River Rounds, River Rock, 14" to 24" across	30	Ton	\$278.75	\$8,362.50	No Bid	No Bid

		F.M. Shelton, Inc.		Green Dream International, LLC			
Item No.	Item Description	Estimated Number of Units	Unit	Unit Price	Total Amount	Unit Price	Total Amount
30	Medium River Flats, 3" think double hand-sized, flat	30	Ton	\$278.75	\$8,362.50	No Bid	No Bid
31	Granite Sand #810	1,800	Ton	\$47.05	\$84,690.00	No Bid	No Bid
32	Slate Chip, Medium, 1"- 2" Blue	30	Ton	\$231.25	\$6,937.50	No Bid	No Bid
			TOTAL:		\$6,008,068.00		\$5,812,248.00
Numb	er of Bids Received:	3					
LSBE Participation Benchmark/GFE				LSBE - MSA Firm		GFE	
Attendance at the Mandatory LSBE Meeting				Yes		Yes	
Separate Sealed Price Schedule (Yes/No)				Yes		Yes	
	mand Award to:	NOTES	- DETAIL	JUSTIFICATI	ON	<u>.</u>	

**Recommend Award to:** 

- F.M. Shelton, Inc., 1434 Ralph D. Abernathy Blvd, Atlanta, GA 30010

- Green Dream International LLC, 32 W. 8th Street, Suite 607, Erie, PA 16501

\*\*Red Unit Price: Represents pricing that FM Shelton has agreed to price match per the LSBE Ordinance, Section 2-204.

## Additional Bidders (Non-responsive):

- Definitive Trucking Company, LLC - Failure to complete required documents (LSBE)

Witness Signature:

Agent Signature:	